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Instructions

· The time for the test is 1 hour.

· Answer all questions. 

· [image: image8.jpg]


Answer the questions in the spaces provided 
– there may be more space than you need.

· Questions that require a calculator are marked with the symbol         .

Information

· The total mark for this paper is 50.

· The marks for each question are shown 
– use this as a guide as to how much time to spend on each question. 

Advice

· Read each question carefully before you start to answer it. 

· Keep an eye on the time.

· Try to answer every question. 

· Check your answers if you have time at the end.
1
Maria buys 12 boxes of mince pies.


There are 6 mince pies in a box.


She is planning an event for 40 people and would like everyone to have 2 pies.


Did she buy enough boxes of mince pies? 

....................................................................................................................................................................

....................................................................................................................................................................

....................................................................................................................................................................

....................................................................................................................................................................

(3 marks)

2
A plane flies from London to Sydney via Singapore.


It leaves London with 260 passengers.


At Singapore 89 passengers get off. 105 passengers get on.


How many passengers are on the plane when it leaves Singapore?

........................................

(2 marks)

3
The bill for a meal is £84.


It is split equally between 5 people.


How much should each person pay? 

........................................

(2 marks)

4
Which of these calculations have the same answer?


a
18 – 6 × 2


b
18 ÷ 6 + 2


c
18 + 6 ÷ 2


d
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e
(18 – 6) ÷ 2

.................................. and ..................................

(3 marks)

5
Show a division calculation to check 78 × 56 = 4368. 

........................................

(1 mark)

6
Simplify.


a
5c – 4d – c – 7d
........................................


b
6y × 3

........................................


c
–4e × 3f
........................................


d
p² × p³ 

........................................

(5 marks)

7
Sam is y years old.


His sister is 3 years older than Sam.


His brother is half Sam’s age. 


His grandpa is four times as old as Sam.


Write expressions for the age of each person. 

................................................................................

................................................................................

................................................................................

(3 marks)

8
Write a formula for the cost in pence C, of n apples at y pence each.

........................................


Use your formula to work out the cost of 6 apples at 9p each. 

........................................

(2 marks)

9
Buses leave to go:


•  to Alton every 6 minutes


•  to Fleet every 8 minutes


A bus to Alton and a bus to Fleet both leave at 10 a.m.


At what time will a bus to Alton and a bus to Fleet next leave at the same time? 

........................................

(3 marks)

10
 James multiplies 2 decimal numbers together.


His answer is 0.08.


What numbers might he have multiplied? 

.................................. and ..................................

(1 mark)

11
 Estimate the answer to     
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........................................

(2 marks)
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12
A baby wears 5 nappies every day.


A pack of 48 nappies costs £5.97


What is the total amount spent on nappies for the baby in a year? 

........................................

(4 marks)
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13
 Write and simplify an expression for the perimeter of this rectangle.

........................................

(2 marks)

14
 multiple       expression       root       term       factor       formula 


Choose a word from the list above to complete each statement. 


a
4x + 20 is a ………………… of x + 5


b
F = ma is a …………………


c
9x is a ………………… in x² + 9x + 3

(3 marks)

15
Tom, Bria and Sunil expand 5(3t + 7).


Tom’s answer is 15t + 7


Bria’s answer is 8t + 12


Sunil’s answer is 15t + 35


Who is correct? 


Explain the mistakes of the other 2 people. 

....................................................................................................................................................................

....................................................................................................................................................................

....................................................................................................................................................................

....................................................................................................................................................................

(2 marks)

16
 Factorise completely. 


a
6p + 12 

........................................

(1 mark)


b
5y² − 3y
........................................

(1 mark)

17
The highest common factor of two numbers is 15.


What could the numbers be?

.................................. and ..................................

18
 Work out     
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8.52.7
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a
Write down all the figures on your calculator display.

........................................


b
Round your answer to 3 d.p. 

........................................

(3 marks)

19 
Work out the missing term     24a³ = 4a
........................................

(1 mark)

20
A plumber charges £60 as a callout fee and then £25 for each hour that he works. 


The expression to work out how much to charge is 60 + 25k. 


a
Explain what k represents.

....................................................................................................................................................................


b
Work out how much he charges for a job that takes 4 hours.

........................................


c
Should he charge twice as much as your answer for part b for an 8 hour job? 



Explain your answer. 

....................................................................................................................................................................

....................................................................................................................................................................

....................................................................................................................................................................

....................................................................................................................................................................

(3 marks)

21
Show that     4(a + 3b) – 5b ≡ 4a + QUOTE 
  7b
(2 marks)
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